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𝒇(𝒙) = √∆

∆≥ 𝟎

𝒇(𝒙) = √𝟐𝒙 − 𝟕

𝟐𝒙 − 𝟕 ≥ 𝟎

𝟐𝒙 ≥ 𝟕

𝒙 ≥ 𝟑. 𝟓

𝒇(𝒙) = √𝒙𝟐 − 𝟒𝒙

𝒙𝟐 − 𝟒𝒙 ≥ 𝟎

𝒙𝟐 − 𝟒𝒙 = 𝟎

𝑥 = 0𝑥 = 4

𝑥 < 0𝑥 ≥ 4

𝒇(𝒙) = √−𝒙𝟐 + 𝟔𝒙 + 𝟕

−𝒙𝟐 + 𝟔𝒙 + 𝟕 ≥ 𝟎

−𝒙𝟐 + 𝟔𝒙 + 𝟕 = 𝟎

𝑥 = −1𝑥 = 7

−1 ≤ 𝑥 ≤ 7
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 𝑓(𝑥) = √𝑥 − 5

 𝑥 = 7

 𝑥 = 5

 𝑥 = 3

 𝑓(𝑥) = √2𝑥 + 8

 𝑥 = −10

 𝑥 = −4

 𝑥 = 0

 

𝑓(𝑥) = √𝑥 𝑥 ≥ 0𝑥 ≥ 2

𝑓(𝑥) = √𝑥 − 3 𝑥 ≥ 0𝑥 ≥ 3

𝑓(𝑥) = √2𝑥 + 7 𝑥 ≥ 0𝑥 ≥ −3.5

𝑓(𝑥) = √1 − 𝑥 𝑥 ≤ 1𝑥 ≥ 0
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 𝑓(𝑥) = √𝑥 − 8

 

 

 𝑓(𝑥) = √4 − 𝑥

 

 

 

𝑦 .א = 4√𝑥  ב. 𝑦 = √𝑥 − 0.5𝑥 ג. 𝑦 = 𝑥 − 2√𝑥 

𝑦 .ד = √𝑥 − 𝑦 .ה 2 = √𝑥 + 𝑦 . ו 5 = √2𝑥 

𝑦 .ז = √2𝑥 − 1  𝑦 = √3 − 𝑥 𝑦 = √−12𝑥 + 6

 𝑓(𝑥) = √𝑥2 − 8𝑥

 

 𝑥 = −1

 𝑥 = 4

 𝑥 = 0

 0 ≤ 𝑥 ≤ 8  𝑥 ≥ 8𝑥 ≤ 0
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 𝑓(𝑥) = √−𝑥2 + 6𝑥

 

 𝑥 = −1

 𝑥 = 4

 𝑥 = 0

 0 ≤ 𝑥 ≤ 6  𝑥 ≥ 6𝑥 ≤ 0

 𝑓(𝑥) = √𝑥2 + 8

 

 𝑥 = −1

 𝑥 = 4

 𝑥 = 0

 0 ≤ 𝑥 ≤ 8

 

𝑦 . א = √𝑥2 − 𝑓(𝑥) . ב   1 = √𝑥2 − 4𝑥 ג . 𝑦 = √𝑥2 − 5𝑥 + 4 

𝑓(𝑥) . ד = √𝑥2 − 𝑥   ה. 𝑦 = √−𝑥2 + 7𝑥 ו . 𝑦 = √−𝑥2 − 5𝑥 + 6 

𝑔(𝑥) .ז = √2𝑥2 − 5𝑥 + 3  𝑦 = √−𝑥2 + 𝑥 𝑓(𝑥) = √−12𝑥2 + 24

𝑓(𝑥) . י = √4 − 4𝑥   יא . 𝑦 = √𝑥2 + 7  𝑦 = √−𝑥2 − 5𝑥 − 4

𝑔(𝑥) . יג = √−2𝑥2 + 𝑥 + 𝑦 . יד 1 = √𝑥2 + 2𝑥 + 8  𝑓(𝑥) = √−𝑥2
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 (√𝒙)
′

=
𝟏

𝟐√𝒙
 (𝟑√𝒙)

′
=

𝟑

𝟐√𝒙
 

 

(√𝒇(𝒙))′ =
𝒇′(𝒙)

𝟐√𝒇(𝒙)
 (√2𝑥 − 5)′ =

2

2√2𝑥 − 5
 

(𝒇(𝒙) ∙ 𝒈(𝒙))
′

=

𝒇′(𝒙) ∙ 𝒈(𝒙) + 𝒇(𝒙) ∙ 𝒈′(𝒙) 

(𝑥√2𝑥 + 1)
′

= 

1 ∙ √2𝑥 + 1 + 𝑥 ∙
2

√2𝑥 + 1
 

 

𝑓(𝑥) .א = √𝑥 − 𝑥  ב. 𝑦 = √𝑥 − 0.5𝑥 ג. 𝑦 = 𝑥 − 2√𝑥 

 𝑦 = √2𝑥 ה. 𝑓(𝑥) = √7𝑥 − 𝑓(𝑥) . ו 4 = 2√3 − 4𝑥 

𝑦 .ז = −√𝑥 − 𝑥 ח. 𝑦 = −8√𝑥 + 2𝑥 ט. 𝑓(𝑥) = 3√𝑥 −
3

𝑥
 

𝑓(𝑥) . י = √𝑥2 − 𝑥 − 1  𝑦 = √−3𝑥2 − 1 𝑦 = √2𝑥2 − 5𝑥
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(𝒗 ∙ 𝒖)′ = 𝒗′ ∙ 𝒖 + 𝒗 ∙ 𝒖′

𝑓(𝑥) = 𝑥2√9 − 𝑥2 

 

𝑓′(𝑥) = 2𝑥 ∙ √9 − 𝑥2 + 𝑥2 ∙
−2𝑥

2√9 − 𝑥2
= 

𝑓′(𝑥) =
−𝑥3

√9 − 𝑥2
+ 2𝑥 ∙ √9 − 𝑥2 

  √𝟗 − 𝒙𝟐 

𝑓′(𝑥) =
2𝑥√9 − 𝑥2

1
+

−𝑥3

√9 − 𝑥2
=

−𝑥3 + 2𝑥 ∙ (9 − 𝑥2)

√9 − 𝑥2
 

𝑓′(𝑥) =
−𝑥3 + 18𝑥 − 2𝑥3

𝑥4√9 − 𝑥2
 

𝑓′(𝑥) =
−3𝑥3 + 18𝑥

𝑥4√9 − 𝑥2
 

 

𝑓(𝑥) .א = 𝑥√𝑥  ב. 𝑦 = 𝑥√𝑥 + 𝑦 .ג 2 = −𝑥√𝑥 + 6 

 𝑦 = 𝑥2√𝑥ה. 𝑓(𝑥) = 𝑥√𝑥 − 𝑓(𝑥) . ו 1 = 𝑥2√𝑥2 − 1 

𝑦 .ז = 𝑥3√𝑥 + 𝑦 .ח 1 = −8𝑥√𝑥 + 𝑓(𝑥) .ט 5 = 3𝑥2√𝑥2 − 𝑥 

1 √9 − 𝑥2 

−2𝑥

2√9 − 𝑥2
 √9 − 𝑥2 

2𝑥 𝑥2 
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 𝑓(𝑥) = √𝑥

 𝑥 = 9

 𝑥 = 2.25

 𝑥 = −4

 𝑦 = 1

 𝑦 = 2

 𝑓(𝑥) = 4√𝑥

 𝑥 = 9

 

 

 𝑓(𝑥) = √5𝑥 − 10

 𝑓(𝑥)

 

 𝑥 = 9.2

 𝑓(𝑥)

 𝑓(𝑥) = √𝑎𝑥 + 6

𝑓(𝑥)𝑥 =
1

2

 

𝑎 = 4

 𝑓(𝑥)
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 𝑓(𝑥) = 2√𝑥 − 2𝑥

 

 

 𝑔(𝑥) = 𝑥2 − 𝑎√𝑥 + 5

 𝑓(𝑥) = 3𝑚√𝑥 − 3𝑥

 𝑓(𝑥) = 2√𝑥 − 𝑏𝑥

  𝑔(𝑥) = √𝑎𝑥 − 3

 𝑓(𝑥) = 𝑎𝑥 − 2√𝑥 − 3

𝑥 =
1

4
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 𝑔(𝑥) = −4√𝑥 + 𝑏 + 𝑥

  𝑓(𝑥) = √𝑥 −
x

𝑎

  𝑓(𝑥) = √2𝑥 − 1

  𝑓(𝑥) = √𝑥2 − 𝑏𝑥

  𝑔(𝑥) = √−𝑥2 + 𝑚𝑥

3

4

 𝑓(𝑥) = 𝑥√𝑥 − 𝑎𝑥

(𝑥√𝑥)
′

= √𝑥 +
𝑥

2√𝑥
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 𝑔(𝑥) = −𝑥2√−3𝑥2 + 𝑎

 

 

 

 𝑦 = (𝑥 − 𝑏)√2𝑥

 

 

 𝑦 = 𝑥 − 𝑏√𝑥 + 𝑘

 

 

 𝑓(𝑥) = 𝑥√−𝑥2 + 𝑎𝑥

 

 

  𝑓(𝑥) =
𝑥

𝐴
− √𝑥

 𝑦 =
√𝑥

1−𝑎
− 𝑥

−
1

2
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  𝑓(𝑥) = √1+2𝑎𝑥 + 3𝑥2

𝑥 =
1

3

𝑓′(1)

 𝑓(𝑥) = 𝑥√𝑥 − 𝑎𝑥
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 𝑎 =
2

3

 

 

 

 

 

 

 

 

 √3

 

 

 

 

 (1, √3)

 

 

 √2
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 𝑦 = √2𝑥 − 8    𝑦 = √6 − 3𝑥  𝑦 = 𝑥 − 2√𝑥 

 𝑦 = 4√𝑥 − 𝑥    𝑦 = √3𝑥 − 0.5𝑥  𝑦 = 𝑥 − 2√𝑥 − 4 

 𝑦 = −√𝑥 + 4 − 𝑥  𝑦 = −8√𝑥 + 2𝑥  𝑦 = 5𝑥 − 2√𝑥 

 𝑦 = 32√𝑥 −
1

2
𝑥2 

 

 𝑦 = √−8 − 2𝑥  𝑓(𝑥) = 4√𝑥 − 2x 

 𝑦 = √𝑥2 − 6𝑥 𝑦 = √𝑥2 − 3𝑥 − 4

 𝑓(𝑥) = √𝑥2 − 9 𝑓(𝑥) = √−𝑥2 + 12𝑥

 𝑦 = √1 − 2𝑥 + 𝑥2 𝑦 = √−𝑥2 + 𝑥 + 12

 𝑓(𝑥) = −𝑥 + √𝑥2 + 12 𝑦 = √𝑥3 − 9𝑥
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 𝑓(𝑥) =  √8 − 𝑥2 + x 𝑓(𝑥) = √𝑥 + 2 + √−𝑥 + 2

 𝑓(𝑥) = −2√−𝑥 + 9 − √𝑥 + 3 𝑓(𝑥) = √ 𝑥 +
4

𝑥

 

    𝑓(𝑥) = 𝑥√𝑥 + 2  𝑓(𝑥) = 𝑥√𝑥 + 6 

    𝑓(𝑥) = −𝑥√𝑥 + 3  𝑓(𝑥) = 𝑥2√𝑥 + 3 

 𝑓(𝑥) = −𝑥2√𝑥 + 5  𝑓(𝑥) = −𝑥3 √2 + 𝑥 

    𝑓(𝑥) = 𝑥2√𝑥 − 2.5𝑥  𝑓(𝑥) = 𝑥√𝑥 − 3x. 

 𝑓(𝑥) = −𝑥2√𝑥 + 5  𝑓(𝑥) = −𝑥 − √2 − 𝑥2 

 . 𝑓(𝑥) = √(4 − 𝑥2)(𝑥2 − 1)  𝑓(𝑥) = 𝑥√(4 − 𝑥2). 

 𝑓(𝑥) = 𝑥2√(𝑥 − 1)  𝑓(𝑥) =
√𝑥

𝑥
+ 2     
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 ג .23

 ג .24

 ג .25

 ג .26

 ג .27

 ג .28

 ג .29

30.  

31.  

32.  

33.  

34.  

35.  

36.  

37.  

38.  

39.  

40.  

41.  

42.  

43.  

44.  

45.  

46.  

47.  

48.  

 א .49

 א .50

 א .51
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  𝑓(𝑥) = √𝑥 − 3

 

 

 

 

 

 

 𝑓 (𝑥) = −4√𝑥 + 𝑥

 

 

 

 

 

  𝑓(𝑥) =
𝑥

3
− √𝑥

 

 

 

 

  𝑓(𝑥) = 4√𝑥 − 2x
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 𝑓(𝑥) = 𝑥2 − 𝑎√𝑥

 

 

 

 

 𝒚 = 𝒌

 𝑦 =
√𝑥

1−𝑎
− 𝑥

−
1

2

 . א

 . ב

 .ג

 .ד

 𝑓(𝑥) = 3𝑚√𝑥 − 3𝑥

 

 

 

 

 

 𝑓(𝑥) = 𝑥 − 2√𝑥 − 3
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 𝑓(𝑥) = 𝑥√𝑥 − 𝑎𝑥

 

 

 

 

 

 

 𝑓(𝑥) = √ 𝑥 +
4

𝑥

 

 

 

 

 

 𝑓(𝑥) = 𝑥2√𝑥 − 2.5𝑥

 תזכורת: 

מכפלהנגזרת של    

(𝑥√𝑥)
′

= √𝑥 +
𝑥

2√𝑥
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 𝑓(𝑥) =
𝑥2

4
− 8√𝑥

 

 

 

 𝑦 = 𝑘 

 

 𝑓(𝑥) = 2√𝑥 − √𝑥 − 6

 

 

 

 

 

 𝑓(𝑥) = √12 − 3𝑥         ,𝑔(𝑥) = −√12 − 3𝑥

 . א

 . ב

 . ג

 . ד

 .ה
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 𝑓(𝑥) = −𝑥2√𝑥 + 5

 

 

 

 

 

 −14 = −𝑥2√𝑥 + 5

  𝑓(𝑥) = 𝑎𝑥 − √2 − 𝑥2

𝑦 = −𝑥 − √2

 

 

 

 

 𝑓(𝑥) =  √𝑎 − 𝑥2 + x
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−√8 ≤ 𝑥 ≤ √8

 

 

 

 

 

 

 𝑓(𝑥) = √𝑥2 + 𝑏𝑥 + 5 

−
3√5

5

 

 

 

 

 𝑓(𝑥) = √𝑥2 − 5𝑥 + 4

 

 

 

 𝑓(𝑥) = √𝑥3 − 12𝑥
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 . א

 . ב

 . ג

 . ד

 .ה

 

 𝑓(𝑥) = √𝑎𝑥2 − 𝑥 − 6
9

4

 

 

 

𝑔(𝑥) = 𝑓(𝑥) − 2

 

𝑓(𝑥)  נתונה הפונקציה   = √𝑥 + 2 + √−𝑥 + 2  , 
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 𝑓(𝑥) = −2√−𝑥 + 𝑎 − √𝑥 + 3

 

 

 

 

 

 

 

 

 

 𝑓(𝑥) = 2𝑥√𝑥2 − 16 

 

 

 

 

 

  𝑓(𝑥) = 𝑥√𝑏𝑥 − 6𝑥

 

 

 

1 ≤ 𝑥 ≤ 10
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 𝑓(𝑥) = 𝑥2√𝑥 − 𝑎

 

𝑎 = −3

 

 

 

 

 

 

 

 𝑓(𝑥) = 𝑥√𝑏𝑥 − 𝑥2

𝑥 < 0𝑥 > 4

 

𝑏 = 4

 

 

 

 

 𝑓(𝑥) = (𝑥 − 3)2√𝑥 + 2

 𝑓(𝑥)

 𝑓(𝑥)

 𝑓(𝑥)

 𝑓(𝑥)

 𝑓′(𝑥)
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 52-78תרגילים  – פתרונות 

 

 𝑥 ≥ 0(9,0)𝑥 ≥ 0

 𝑥 ≥ 00 ≤ 𝑥 < 4

 𝑥 ≥ 0(2.25, −0.75)

 𝑥 ≥ 00 < 𝑥 < 1𝑥 > 1

  𝑥 ≥ 0−3 < 𝐾 < 0 

 ½𝑥 ≥ 0

 𝑚 = 2 𝑥 ≥ 0𝑦 = −2𝑥 − 9 

 𝑥 ≥ 0 𝑥 > 9

  𝑥 ≥ 00 <  𝑥 < 9

 𝑥 > 00 <  𝑥 < 4𝑥 > 4  ∶     , 

 𝑥 ≥ 0

𝑥א.  .63 ≥ 12−ד.   ג.   , (12-,4)ב.   0 < 𝑘 ≤ 0 

𝑥א. פתרון   .64 ≤ ,8).  ב , 6 6, ג. אין, ד. ירידה:  (8√ < 𝑥 < 𝑥עלייה:    , 8 <  ה.  8

𝑥( 1. ), ב 4פתרון: א.  .65 ≥  IVג.  (.4) מוםימינ (8-,4) , ( מקס0,0( )3(  )9,0( , ),00( )2) 0

   f(x)  (4,0),(√12,0)    ,g(x)ירידה: אין ג.   x<4עלייה:   x<4   ,g(x)עלייה: אין, ירידה:    f(x)ב. x<=4 א. ת"ה:   פתרון:  .66

 ד.    (12,0√-),(4,0)

67. 𝑥 ≥ −5 3 

2√−.   1ב.   a=-1א.  פתרון: .68 ≤ 𝑥 ≤ √2 2 .X=1  3  .(2√-√2,)max  , min(1,-2)   .2.41ד.   ג 

y=1  2 גרף .IV 

   ד.  . לא 2. 1, ד.   y=1   y=-1ד.   (2,0-)מקסימום ג.    (2,4)ב.  8א.  פתרון: .69

 

𝑥   ב.     b=-6א.  פתרון: .70 ≤ 𝑥  או  1 ≥    ה. x<1, ירידיה x>5ד. עלייה    max , (1,0)   (5,0),0√ 5)ג.  5
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71. a=2 .(1) ב x>2  אוx<1.5  (2, ב ) (2,0)  ,(-1.5,0)  (3ב)  יורדתx>2  עולה,x<1.5   ,(2ב ) 

𝑦ג.    = −2.25𝑥 − x−2 שלילית: , ד.  2.5 < 𝑥 < −1.5    ,2 < 𝑥 < 2.5 

72. 𝑥 < 1  ,   𝑥 > 4  (2 )  (1,0), (4,0)  (0, 𝑥. עולה ( 3) (4√ > 𝑥יורדת   4 <  לא ב.   (   4)  1

73. −√12 < 𝑥 < 0  ,   𝑥 > √12, −√12 < 𝑥 < −2    , 𝑥 > √12  2 < 𝑥 < 0 

 

 

 יח''ר 4ג.  ד. ה.   (1,4-), ב.   x<0>2-א.  .74

 , ו. ה.   (3.71-,1.8)ד.  (9,0), ג.  x<9>0ב.   , a=9פתרון: א.  .75

𝑥תשובה: א.   .76 ≥ 𝑥 או  4 ≤   ד.x<-4 או  x>4ג.  (4,0-) ,  (4,0)ב.  4−

 

77.  

78.  

79.  
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 𝑦 =
𝑥−1

√𝑥 𝑦 =
√2𝑥

𝑥2+3
 𝑦 =

𝑥2−1

√2𝑥−1

 𝑦 =
1

√𝑥 𝑦 =
√𝑥2+10𝑥+9

𝑥2−9
 𝑦 =

−𝑥2−1

√4𝑥2−1

 

 

 𝑓(𝑥) =
𝑎𝑥

√𝑥+𝑏
− 1

3=x5.1−

 

 

 

 𝑔(𝑥) =
2𝑥

√𝑥−𝑏

 

 

 𝑔(𝑥) =
√𝑥−𝑘

𝑥
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𝑓(𝑥) =
√9−𝑥2

𝑥2

 

- 

𝒙𝟐 = 𝟎

 𝒙 ≠ 𝟎

- 

𝑥2 − 9 ≥ 0𝒙 ≥

𝟑       𝒙 ≤ −𝟑 

𝒙 ≥ 𝟑       𝒙 ≤ −𝟑

𝑥 ≠ 0

 

𝑦 = lim
𝑥→∞

(
√𝑥2−9

𝑥2  )  = 0

𝑦 = 0
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𝑓′(𝑥) =

2𝑥

2√𝑥2 − 9
∙ 𝑥2 − 2𝑥 ∙ √𝑥2 − 9

(𝑥2)2
=

𝑓′(𝑥) =

2𝑥3 − 4𝑥(𝑥2 − 9)

2√9 − 𝑥2

(𝑥2)2
=

36𝑥 − 2𝑥3

2√𝑥2 − 9
𝑥4

=
36𝑥 − 2𝑥3

2𝑥4√9 − 𝑥2
=

𝑓′(𝑥) =
18 − 𝑥2

𝑥3√9 − 𝑥2

0 = 18 − 𝑥2

𝑥 = −√18𝑥 = √18

𝒎𝒂𝒙(√𝟏𝟖, 𝟏/𝟔)𝒎𝒂𝒙(−√𝟏𝟖, 𝟏/𝟔)

 

3 ≤ 𝑥 < √8𝑥 < −√18

−√8 < 𝑥 ≤ −3𝑥 < √18

 x=√18  x=3  x=-3  x=-√18   

 max   -------   max  f(x) 

 0   -------   0  f'(x) 
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√9−𝑥2

𝑥2
= 0

(𝟑, 𝟎)(−𝟑, 𝟎) 

√√

𝒙 ≥ 𝟑       𝒙 ≤ −𝟑
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𝑓(𝑥) . א =
√ 2𝑥+𝑥2

𝑥
𝑓(𝑥) . ב      =

3𝑥

√𝑥−2
𝑓(𝑥) . ג  =

√𝑥+9

𝑥
 

𝑓(𝑥) . ד =
√𝑥2−4

𝑥
𝑓(𝑥) .ה  =

√𝑥2−9

𝑥2
𝑓(𝑥) . ו .  =

√𝑥+9

𝑥
 . 

𝑓(𝑥) .ז =
3𝑥+3

√𝑥−1
𝑓(𝑥) . ח  =

2𝑥

√𝑥−4
𝑓(𝑥) .ט  =

𝑥

√𝑥−1
 

𝑓(𝑥) . י =
𝑥+3

2√𝑥
𝑓(𝑥) . יא  =

√𝑥+3

√𝑥
𝑓(𝑥) . יב  =

𝑥+1

√𝑥
+ 2 

𝑓(𝑥) . יג =
𝑥2+4

√𝑥−1
𝑓(𝑥) . יד  =

6𝑥

3−√𝑥
+ 𝑓(𝑥) . טו 2 =

−√𝑥−1

𝑥2+4
 

 

 𝑓(𝑥) =
√𝑥

𝑥
+ 2

 .א

 .ב

 .ג

 . ד

 .ה

 𝑥 > 0 𝑥 = 0

 𝑦 = √𝑥 ∙
1

𝑥
− 2
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𝑥.  א שאלה   >  X=0  ,y=-2ד.  (0.25,0), ב. ג.  0

 

 

 𝑓(𝑥) =
√𝑥2−4

𝑥2

 

 

 

 

 

xא.   פתרון: ≤ x או 2− ≥   y=0.25ה.ד.  max(√8,0.25) min(-√8,0.25)ג.  (2,0-) (2,0)ב.  2

 

 

 𝑓(𝑥) =
√𝑥2−4

𝑥

 

 

𝑔(𝑥) = 𝑓(𝑥) − 2

 

2 < 𝑥 ,   𝑥 > 2

 𝑓(𝑥) =
3𝑥+3𝑎

√𝑥−1
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 . 2 (3,0). 1ו.     ה. (3,8.5)ד.   x=1.  ג.   x>1, ב.a=1פתרון: א. 

 𝑓(𝑥) =
5√𝑘+𝑥

𝑥

 

 

 

𝑥, ב. k=-1פתרון: א.  ≥       ה. (5-,2)ד.  y=0 .  ג.  1

 


